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STUDENT’S WORKSHEET

Name: ___________________________________________________   Grade: ______________
 Graphing Linear Equations
	Grade 8 Linear Equation Worksheet 1



I. Give the following values of y and plot the points in a graph.

1.)  Linear Equation:  y =  2x + 4

	X
	-2
	-1
	0
	1
	2
	


	y
	
	
	
	
	
	



	











2.)  Linear Equation:  y =  - 5x + 8

	X
	-2
	-1
	0
	1
	2
	


	y
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[bookmark: _GoBack]II. Give each equation using the x – and y – intercepts.

1.) y =  4x – 2 
	x – intercept
	y – intercept

	







	




2.) 4x – y = 3
	x – intercept
	y – intercept

	







	




3.) 2x – 11y – 22 = 0
	x – intercept
	y – intercept

	







	




4.) 24 – 6x + 12y = 0
	x – intercept
	y – intercept

	







	




5.) – 2x + 3y = 10
	x – intercept
	y – intercept
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